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The disordered XXZ spin chain 
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The  XXZ spin chain couples with baths 
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NatMre of the baths 
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Sketch of our  model  
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Mapping to a 2D classical field (Bosonization) 
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Results for a LuZinger liquid (LL)
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QuantMm Monte Carlo hard bosons 

• Spin stiffaess  vanishes at the critical point 

• dissipative phases high suscetibilit@



Our results 1: susceptibilit@
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Variational method
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Our results 3: independent check
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Summar@ of the results 
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Conclusion 

• Low dissipation we found a LL. High  dissipation 
consistent with a variational  ansatz with zero spin stiffaess   

• KT t.ansition: the critical point is LL with Kr=Kc=1/2 

• Dissipative phase is more localized : standard conductor 
for s=1; insulator for subohmic baths


